EQIP FY 2004
Lower South Platte Watershed

Ground and Surface Water Conservation Project

Ranking Criteria

Note:  Contracted acres must have been irrigated for 2 out of the last 5 years to be eligible.

1A.
SYSTEM IMPROVEMENT

Irrigation Water – Relative values assigned to denote an improvement in the irrigation system on the offered acres.  (Note: these are relative values and are not to be interpreted as system efficiencies.)  Points are to be calculated by using the formula [(% of acreage offered) times (% index CHANGE on those acres) times 100] then adding all values.  See the example for guidance.
SYSTEM







IMPROVEMENT INDEX

Flood (wild)








40%

Flood (border, contour ditch, corrugations, furrow with tubes)


50%

Gated pipe








60%

Surge Valve with gated pipe






65%

Traveling Sprinkler/Hose or Cable Reel





65%

Side Roll Sprinkler







70%

Center Pivot high pressure impact nozzles, >50 psi



75%

Center Pivot low pressure impact nozzles, 30-45 psi



80%

Center Pivot low pressure, drops ~ 1 ft below trusses, 30-45 psi


85%

Center Pivot extended drops, MESA1 & LESA2, 15-30 psi



85%
Center Pivot, LEPA3







90%

Subsurface Drip (SDI), lateral spacing <5-7 feet




90%

Conversion to Non Irrigated Land or permanent non-irrigated vegetation4
          100%


Foot notes: 1MESA-Mid Elevation Sprinkler Application, may or may not be in canopy.  2LESA-Low Elevation Sprinkler Application, or LPIC, Low Pressure in Canopy, drops are 1-2 feet above ground.  3LEPA-Low Energy Precision Application, include planting in circular rows and utilizing some type of reservoir tillage method (e.g.-furrow dikes).  4Alfalfa will NOT be considered permanent non-irrigated vegetation.
Example:  A producer has 100 acres of irrigated ground to be offered, 50 acres in Field A and 50 acres in Field B.  The producer will convert Field A from furrow to surge (15% index change).  This producer will convert Field B from surge to drip (25% index change). The points for this would be computed as:

Field A - 
0.50 x (0.65-0.50) x 100
=     7.5

Field B -       
0.50 x (0.90-0.65) x 100           =   12.5               Total points= 7.5 + 12.5 =    20.0
Field # _____ has ______ acres [% of total acres ______ X (% change) _________ X 100] = ______________

Field # _____ has ______ acres [% of total acres ______ X (% change) _________ X 100] = ______________










Maximum 40 pts.     ________ pts

1B. 
Ditch Lining or Pipeline (based on predominant soil type)

Sandy, Loamy sand, Sandy loam




15 pts.

Loam, Silty loam





12 pts.

Sandy clay loam, clay loam, silt




10 pts.

Silty clay, Silty clay loam




  8 pts.

Sandy clay






  5 pts.

Clay







  2 pts.









Maximum 15 pts.    ________ pts


(NOTE: POINTS MAY BE TAKEN FOR BOTH 1A AND 1B)

2.
Irrigation Water Management Improvements (IWM) – 20 points
Use of an irrigation management strategy that will incorporate 1) a method of measuring water delivery to the field, and 2) an irrigation water management plan that will monitor in-season water use to regulate application of water in response to higher demands during critical periods, and 3) adequate documentation of water use and delivery are to be maintained by producer and provided to NRCS.  The irrigation water management strategy will be documented using FIRI or other agency accepted evaluation program.







       _________ pts
3.
Consumptive Use of Crops Grown

Crop






Points
Alfalfa






   1

Pasture Grass/Sugar Beets/Potatoes/Onions

   2

Corn (grain)





   3

Sorghum Grain & Corn (silage)



   4

Beans (dry) & Small vegetables



   5

Wheat & other small grains (also Melons)

   6

Native grass (following conversion to non-irrigated ac)
   9

Assign points for existing and planned crop rotations (on a weighted average per acre).  For one year contracts, points will be given for that crop.  If producer is utilizing a multi-year rotation, an annual average will be used.  Enter rotation cycle once, i.e.: corn/wheat (not corn/wheat/corn).
Existing Rotation _______________________________________________________________

Total Points = _______________________

Average Annual ER = _______________

Planned Rotation _______________________________________________________________

Total Points = _______________________

Average Annual PR = _______________

Consumptive Use Reduction Points = 


[(PR) _________ - (ER) __________] X (yrs of contract) ______ =  __________________











     (Maximum Points = 20)

4.
Productivity Index (PI)  (Land Conversion only) (based on predominant soil):




PI = < 75 

20 pts



PI = 75 – 86

10 pts



PI = > 87

  0 pts
5.
Cost Effectiveness:

Total Project Cost  $ __________________________  Total Contracted Acres  _______________ acres



(cost share + producer’s share + incentive payments)


Total cost per acre (Total project cost / Total Contracted Acres)  $ ________________


< $300 per acre = 20 points,  $300 to $ 600 per acre = 10 points, > $ 600 per acre = 0 pts












____________ pts


Total Ranking Points:  

A minimum of 70 points must be achieved to be eligible for funding consideration.
Conservationist __________________________________________________ Date _______________________

Applicant _______________________________________________________ Date _______________________
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